Acc. Pre-Cailc Ch, 2 Review Name _
Period

No Calculator

O 1 1 1e)=x +2x-4, find f(@).f(a+h),and LEXD=TE) ] 'slah th* B4 2h - %
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2. Which of the following figures are graphs of functions? State their domain and
Which of the functions are one-to-one? Which functions are even, odd, or neither?
A) B) C) D)

Function: “0 Function: !ES Function: ?E E Function: ?%i
M One-to-one __ A/ One-to-one One-to-one 4
Domain EOTM? Domain_{-ve ,2) Domain L1 5, ¢2 Domain %-M:DEU?'{),M)
Range (-cvo, o Range L0, v} Range [0, <) Range (—t0 ,0D [0,9“’)
Evenorodd_ (Evendr Odd, EvenorOdd /e /. Even oxQdd)
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3. Suppose the graph of f{x) is given. Deseribe how the graphs of the following functl ns can be obtamed
from the graph of f{x).

D y=+8 ohift £(x) yo ¥ B y=fG+8) olygl Flx) & &
C)y=1+2f(x) 27 P ptuldd  Dyy=f(x-2)-2 _ahift flx)=>72aVZ

Jud by Eestor 2
E)y=7(=%) %C //k/ Va4 t;_ axes F)y=-f(-x) W ﬂé«wﬂ/ﬂ/ M,tﬁ'. /
AAFA, //t‘%/ pril X-atd H)y=f"(x) /a/,,; oz y-,x At

Dy=fe=3+2 ol ft x) = 3 ad 172

4. Determine fthe following are ever, odd, or neither (without graphing). Show work.
A) f(x)- 3 B) f(x)=3x"-2x C) f(x)=5x"-x
Q). 53 o] ()= 3x = +1x Fx)= -5¢° X
X+S Neithur




5. If f(x)=x>-3x+2 and g(x)=4-3x

A Find fog {(4(0) ByFindgof q({(x))
®£(4—3x)=(4-3){)7’-3(4-3*)**2 9(X™3x +2)°= 4-3(x =3X+2)
b ~24X + 9XP- IR 49y +12 = 4 -3x2+qx b
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6. Determine if f(x) and g(x) are inverses. (Show your work)

' A) f(x)=3xw=%x+z B‘) f(x)=—ll-andg(x)—-—+l
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7. I fx)=x+2x-4, find f(x+1)and f(N2)

)C(XH)“-(X HY'LZ(XH)"‘) ,C(\f' = f) +2 ﬁ.) 4
Yiqvel F 21X 41 -4 Z"Z\[- _4:t2+21/zi
0 8. Find the domain and range o?( the following (You may want to look at a graph)

#A)f(x)=\/x+3 X+3=0 B) f(x)=x—2—~— Xaﬂ,;_—\ln'g‘ C) f(x)=Tx+15 Aewr

+1
XZ-3 W#0
Domain [ i Domain (-‘”.‘QUH."Q Domain (‘ w9, "")
Range O, o Range (-« 0)u(0, &) Range Z-m,wj
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9. Graph the function 1y Wy X | iy }A

-2 {.foO E’I zlr)o"'a OI 40‘} 4 , do‘.l} } n Ku lli
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10. Using the graph below...

f
—7 a) Whereis f(x)<g(x) [ 2 []
L,ﬁq\ k g gb) Where is f(x) > g(x) (-bo) Z)U(hoo)

\ k‘ c) Where is f(x) increasing? ( 0, v=)

\ X d) Where is g(x) decreasing? [ - v, 60 () -Hz
f[l €) What is the net change of f, for x = -2 and x=1? "' @
L ( 1) f) What is the average rate of change for f

for x = -2 and x=1? -3 --3 :Ij]
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11. Given the function below find any Local Max (s): (/ 5 ) o2 =25
Local Min(s): (p.p) + (13,9-30) adl! —0;;' ?04?»4/1

_-_ Increasing Intervals: (0, /) (/{3 c0) "
_ g\ Decreasing Intervals: (-wo p) v (/,3)
1y (\, Is the function one-to-one? _ A/()

; Evenorodd? WHY __ /7, Yhor
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12. Let f(x)=2x+1, find f(@}, f(h + a), the net change, and the average rate of change.

G- lari] L(ha) - 2(hea)t] Meta- (,c(/m)/)fzzﬂ) oy - L 1]
/l? (hta)-= 2h %zfd jﬁfﬁz&_
Netd = 7h]

13. Let f(x)=3x*-2x , find the net net change, and the average rafe of change forx =-4 and x = 2.

EY-f(-4)  f(a)-300)-2(4) " [eta= g=5b = 45| Ar4- “*3 [

£(2)- .3[4) 2/2) /7-4= S’ Wiy SEN
14. A) Sketch the graph f(x)=1- Ex 5
B) what is the slope of the graph? - 3 / 7 \\
C) What is the rate of change of the function? '; 0 _\ >
B 3/11 e .
N

15. Sketch the graphs of the following functions (state the domain and range)
1 1
A) y=3-+x-4 )(—4?_0 B) g(t)=—— X+4 C) f(x)=—-2—|x—2|-1
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1 S S A 71
512 DHJM) AR 31-1.5
-0 31- I 'f-f)
8 | R ( ’3] Z."'I/L + O "'Z,-

\

“F\'_’% !
:
[} 5 ] 5

l) (-"‘:‘;4)(} 4100) D“ ('m'w\
Rl -onliln o) R- ("’O:"]




16. Find the inverse of the function and graph both. X "l

A) f@)=(x+1)*-3  f'(x)= SJ(X+35 - B)f(x)=2x+1 = 72
O Xf\[ Wl : i
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ﬂ: (x +1) -3 &w'ML Y= Ax F
3 3
X=(13+|)_3
X = 2yl
X+3= (yr1) o5



